5(a)   Your company currently using an inspection process in its materials receiving department is trying to initiate an overall cost reduction program. One possible reduction is the elimination of one of the inspection positions. This position tests materials that have a defective content on the average of 0.04. By inspecting all items the inspector is able to remove all defects. The inspector can inspect 50 units per hour. Hourly rate including fringe benefits for this position is $9. If the inspection position is eliminated, defects will go into product assembly and will have to be replaced later at a cost of $10 each when they are detected in final Product testing.

Should this inspection be eliminated? Why or Why not?

5(b)   SystemTel produces radios for Elmora County’s fire department, Intron Computers produces the chips in the radios. Intron produces thechips to an AQL of 3 percent defectives and is willing to run a 5 percent risk of having lots of more defectives or lower rejected. SystemTel considers lots of 7 percent or more defectives unacceptable and wants to ensure that it will accept such poor quality lots no more than 10 percent of the time. The company has decided to use 3 sampling plans.

i. How many units (n) should be contained in each sample and what should be the acceptance number (c) in arriving at 3 acceptable sampling plans (in an attempt to determine the quality of the 1000 units just delivered.

ii. What percentage of the lot is company using to deicde on the entire lot? 
            Use the standard acceptance sampling table reproduced below
	C
	LTPD / AQL
	n.AQL

	0
	44.89
	0.052

	1
	10.95
	0.355

	2
	6.51
	0.818

	3
	4.89
	1.366

	4
	4.06
	1.970

	5
	3.55
	2.613

	6
	3.21
	3.286

	7
	2.96
	3.981

	8
	2.77
	4.695

	9
	2.62
	5.426


(b) Assume that the arrival process to drive-through teller is random (most arriving patterns are random) if the mean arrival rate at the teller is 5 people every minute, estimate the probability that 2 additional people will arrive at the machine every minute. Given your answer, if you were in charge of ensuring a smooth flow at the teller, what adjustments if any would you make?

